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oood

oooovoooooooooo0 p—e+ve+vy, +y0000
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/‘4 E D 81 15 - D 12
E ENTRES 1608 F enTRIES 1506
1.3 B 30.0 [ ooo ] 0.00 1.4 30.0 [ ooo | 0.00
E 13.0 1.00 0,00 C 9,00 [ 100 | 0.00
12 B 0.166E+04] 0.00 | 0.00 13 B 0.156E+04] 1.00 | 5.00
11 E 12 F
1 e O
09 & 1
0.8 & 09
0.7 & 0.8
06 E 0.7
E [} £
05 06 £
04:\\\\‘\\\\‘\\\\‘\\\\‘\\\\ 5:\\\\‘\\\\‘\\\\‘\\\\
115 116 M7 118 119 120 44 45 46 47 48
1-3 2-3
15 E D 95
= ENTRIES 06
14 17.0 0.00 0.00
| 3,00 2.00 0.00
13 E O.156E+04] 500 | 190
12
11
10
9
8
7
6 E
E m}
5 EBu Lo b b b b
1.6 1.8 2 22 24
1-4
O 19: OO adel-30 adcl-40 adc2-3
1D 23
7000 Entries 28326
6000 Mean 0.7316E—02
RMs o. 1177
5000 UDFLW a.oo00
OVFLW 951.0
4000 ALLCHAN 0.2738E+05
3000 X/ ndf 1362.  / 18
Constant 6331.
2000 Mean —0.1849E—03
1000 Sigma 0.9213E—-01
o . P N, — e
— — 0.4 —0.2 (@] 0.2 o.4 O.
adc1
0000 — 1D 33
C Entries 28326
C Mean —0.1482E—01
8000 ¢ RMS 0.99226—01
C UDFLW 0.000
6000 [ — OVFLW 1217.
= ALLCHAN 0.2711E+05
4000 I X2/ndf 4745 / 10
C Constant o258.
= Mean —0.1881E—-01
2000 — Sigma 0.8779E—01
o O N R
—0.86 — 0.4 —0.2 ] 0.2 o.4 O.
adc2

0 20: adcl O adc2 O pedestal
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5000 1D 42
Entries 28326
Mean 0.1006E—01
RMs 0.9794E—-01
UDFLW a.oo00
OVFLW 1639.

JALLCHAN 0.2669E+05
Z /ndf Taze6. J 14

\ggmstomt 4660.

Meqn 0.1488E—01

Si 0.9054E—-01

4000

3000

2000

1000

L L L L PNt

21 0.2 0.3 0.4

1D 52
Entries 28326
Mean —0.68193E—02
RMS O.11869
UDFLW 0.000

5000
4000
3000 OVFLW 727.0
ALLCHAN 0.2760E+05
x*/ndf 870.6 / 23
Constant 4429.
Mean —0.9769E—-02
Sigma ©.1051

2000

1000

o | | RN —

—0.6 — 0.4 —0.2 o O.2 Q.4 O.6

0 21: adcl O adc2 O pedestal

0.0 UOOOoonogmd
0.6.1 TDCUO overflow

TDCOODOODO (94.33%) 000000 overflow(signal 0 4.5usec0 00000
00o000)000000000000000000000o0D0oooooOoog
00o00000o0ooo0oo0oooooooooooooooooooooOo wOoo
0000000000000 gate0DO0DOO0ODOODOOODO pODOODODOO
O00ODOoverflow 0000000000000 0O0DOODOODOO0ODODOOOO
0000000000000 00D0D00000D0DO0000 accidental coincidence
000000000 OOOOOO0O0OO0OO0OO0O0OO000000000000000a0
000000000000 overlowd ODODODOODOODODOD pO00OO0OO
00000000000000 ®O0O0O0O0O0O0O00000000000000
000000000 oDbOo000ooooo0oooooon

0 0O O accidental coincidence 0000 OO O0O0OOON singlerate0 00 OO
O00Osignal 000 OOOOODOO

00 0 00 accidental coincidence 0 rated 4.3 x 107°Hz0 000000000
O0o00ooooo

00 @OOOVETOOOOOOOOO0OO0OO0O0OO0OO0O000000OO®Oo®O
coincidence 000000000000 O®O®0O GO coincidence D WO VETO O
Oo00doobodooooooobuooonoooesgonoodse2rooon
O0000000000@OU@LEOOO0OD0O0O0O 2.99% 0 stopped w000
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single rate signal [0 [J
® 7.0Hz 50nsec
@ || 17000Hz 50nsec
© 5.1Hz 20nsec

O 5:singlerate0 000000

000000000000000000®O efficiency 0 98.97% 0000000
00ODEUEIDDDO0N0DO0 1.03%0 VETOODOODODOooooooo
gate 0 OO0O0OD0 gateD00DODODOODODODO 345% 0000000000000
gaob

overflow D 000000000 (tde >4.5usec) D p0 00000000000
000000000 129% 00000 0000000000 0OOO 11500
pO00o00oobooboood

000 ®@OU0000000000000000®A0 efficiency 0 92.6% 0000
pep0bO0D0O0OO0O0DODOOOO0 1000 p000000O0O0ODOOO0OO0
factorDO OO0 12400 p00O000D0OOOODOO

overflow 000000000000 567% 0000000000 factord Od0O
0000000000 41.5%00000000000000000000O

0.6.2 p — e+ v, + v, + 70O branch ratio

ogdoleocdonoooodoodididdy —e+ v +v, +y 00000
00000400000000000000000 branch ratioO 2.6% +2.4% 0
ggn

OO0 aded D adeh OO0 OO0 yOO0OOOOODODOODODOOODOODODOO
O~0000D0signalDO0OO0O0OODOODO

0.6.3 p — e + 0 branch ratio

gob leoc0doboboooobbbtdpy —e+ydobbbooon
0000000000000 branchratio0 0000 2.1% 0000
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0.64 0UO0OODODOO

p— e+, + v, +v0 branch ratio0d 0 2.6%+2.4% 00000 1.4%+0.4%]1]
0000000000000 00000000O0O00000 923% 0000000
286% 0000000000000C0000O 1000D0DODOOOOOO0OOOOO
ggbbobuooobbbodooobobbbooobbboooobbboood

O0pu—e++000000000000 branchratioODO0O0O00O 2.1%0
000000000000000 branch ratio0 000 1.2 x 107°%[1] 0000
g90obUobOobooboooboooboboobooboboboboDoooobooO
O00opoooooooo

0.7 0OU

gboriogbobobOobOobOobooooboboboboboboon
oob0bO0o0obO0oooboobTAODOOODOOOODOOODOoODObDbOODO
ggbbbuoooobbbuoooobbboodod
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